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BT M r IRFfH Kg A Kz EWE  pH AKE DO DO PO,~P NH,~N NO,~N NO,~N COD Vi)
(m) &) E&E (m) (©) (mg/L) (%) (pg/L)  (peg/L)  (ug/lL)  (ug/L)  (mg/L)

St.1 9:00 0 - = 13.0 8. 1 14.4  33.88 7.9 92.8 7.0 1.5 6.8 73.1 0.0 74—V

E= 5 0 9 8.1 14.5  33.89 7.8 92. 0 7.1 1.0 6.3 50. 7 0.0

10 8.1 14.5  33.89 7.6 90. 1 8.9 1.2 7.2 57. 4 0.0

(27m) B-1 8.1 14.3  33.87 7.7 90. 7 8.0 6.1 6.9 64. 8 0.0
St.2 8:40 0 - = 11.0 8.1 14.3  33.85 8.0 93.5 41. 1 7.5 6.7 25.0 0.0 7=V

TR 5 0 10 8.1 14.3  33.85 8.0 93.6 10.6 6.1 7.9 39. 1 0.0

10 8.1 14.3  33.85 8.0 93.6 7.5 5.3 4.9 59. 7 0.0

(25m) B-1 8.1 14.2  33.86 7.9 92.5 13.8 7.4 7.0 78. 8 0.0
St.3 9:35 0 - = 6.0 8.1 13.6  33.68 7.7 89.5 9.9 12.2 4.2 49.9 0.0 7=V V6

b Iy 2.5 0 10 8.1 13.7  33.67 7.7 89.5 8.0 13.6 5.1 77.0 —

5 8.1 13.7  33.68 7.7 89.5 11.8 16.0 7.6 80. 1 0.2

10 8.1 13.7  33.69 7.7 89. 6 10. 4 18.6 7.7 79.5 0.0

(28m) B-1 8.1 13.8  33.73 7.8 90. 7 13.6 17. 4 6.8 80. 1 0.2
St.4 9:20 0 - = 15.0 8.1 14.6  33.88 7.8 92. 4 9.9 3.9 7.2 79.5 0.0 7=V 3

TEAR 2.5 0 10 8.1 14.6  33.88 8.0 94. 3 8.9 2.8 6.3 111.2 -

5 8.1 14.6  33.89 7.9 93. 4 8.1 1.6 6.3 66. 5 0.0

10 8.1 14.6  33.89 8.2 97. 1 5.7 3.0 6. 4 85. 0 0.0

(33m) B-1 8.1 14.4  33.89 7.8 92. 2 7.1 3.1 4.8 75. 7 0.2
St.5 10:40 0 - = 4.5 8.0 13.8  33.62 7.8 91.2 16.7 29.0 7.8 22. 7 0.0 T4V V6

K 2.5 0 10 8.1 13.8  33.63 7.7 89.7 13.9 20. 8 4.6 43. 4 -

5 8.1 13.8  33.67 7.9 91.6 14.3 23. 4 6.6 75. 1 0.0

(9m) B-1 8. 1 13.6  33.66 8.0 92. 1 14. 5 21.0 8.5 97. 4 0.0
St.6 10:10 0 - = 4.5 8.0 12.9  33.06 7.9 89.7 12.6 24. 3 4.5 86. 4 0.0 T4V V6

A HERTET 1 0 10 8.1 12.9  33.02 8.0 90. 6 15.2 27.5 5.8 86. 8 0.0

5 8.1 13.6  33.57 8.1 93.8 8.9 20. 8 3.6 75. 1 0.0

(9m) B-1 8.0 13.6  33.60 7.6 87. 4 9.7 24. 8 3.2 97. 4 0.0
St.7 10:45 0 - = 3.5 8.0 13.2  33.21 7.7 88.7 21. 4 38. 1 7.4 119. 8 0.2 TH= T

farfiig 1 0 10 8.0 13.3  33.19 7.7 88.5 18.6 25. 7 5.3 99. 6 0.2

5 8.0 13.9  33.66 7.4 86. 1 12.9 24. 1 6.1 92. 3 0.2

(6m) B-1 8.0 13.9  33.67 8.1 94, 4 17.6 28. 8 7.1 89. 2 0.0
St.8 9:50 0 - = 6.0 8.1 13.0  33.44 8.2 93.8 12.4 21. 1 5.1 72.2 0.0 7=V 6

S 2.5 0 9 8.1 13.4 33.55 8.1 93.6 15.5 29. 1 7.3 86. 0 -

5 8.1 13.6  33.62 8.1 93.9 11.9 21. 7 6.7 58. 2 0.2

10 8.1 13.6  33.65 8.0 92.2 16.0 23. 2 7.5 65. 2 0.0

(21m) B-1 8.1 13.6  33.68 7.8 90. 4 18.0 21.3 7.3 82. 4 0.3
St.9 10:00 0 - = 5.0 8.1 12.6  33.19 8.3 93.8 7.3 19.2 3.5 92.5 0.2 T4V IV6

FARX Yo7 2.5 0 10 8.1 13.2  33.44 8.0 91. 4 6.9 15.4 2.9 89. 1 -

5 8.1 13.4  33.53 8.0 91.9 11.9 25.9 5.9 79.5 0.2

10 8.1 13.8  33.67 7.8 90. 1 15.8 29.5 7.1 76. 1 0.3

(15m) B-1 8.1 13.9  33.70 7.6 88. 1 18.0 30. 0 8.0 80. 4 0.0
17 (A) 10:20 0 - = 3.0 8.1 13.5  33.59 7.6 87.3 9.2 17.9 2.4 74. 4 0.0 T-UIVT

5 0 10 - - - - - - - - - -

(5.5m) B-1 8.1 13.5  33.59 7.6 87.9 13.0 25. 2 4.9 79. 2 0.0
K (B) 10:30 0 — = 5.5 8.1 12.8  32.88 8.0 91.8 11.6 19.9 4.6 98. 6 0.0 7=V 6

5 0 10 8.1 13.6  33.57 7.6 87. 4 12.5 19. 4 3.4 58. 7 0.0

(13m) B-1 8.1 14.0  33.72 7.6 89. 0 9.6 20. 7 4.3 90. 9 0.0




